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I = (u® 4+ ub 4 du+ 1)

* 1 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u4+u%2+...+4u+1)

(i) Arc colorings

1
a10 = \ 0
1
a1l = U2
U
a4 = u3 + U
w? 41
a1o = U4 + 2’LL2
—ud —2ud —u
a6 = \ —y” —3u® —2u +u
—ut —u? 41
a; = U4 + 2U2
wd +3ul +ut —2u2+1
ag = —u® — 4ub — 4yt
u' + 8ul” + 24u™ + 30u'3 + Tult — 10t + 4u” 4 6u’® — 3u® + 2u
as = —ul® — 917 — 32415 — 55013 — 43wt — 9u® — 4ud + B +u
—udt — 15032 4 u? 41
a2 = \u3* +16u3? + - - — 2u* + 3u?
—u? —9ut® 4 —u? 41
as = \ —u?2 —10u® + .- + 2u* — u?
—u35 —16u33 + - + 3u — 2u
ar = —udT =17 o —wd
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u%? — 4451 + ... — 40u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C6, C8 u® 4+ 15u%? + -+ 160 — 1
C2,C7 uB 4+ uf? 4+l 41
€3 u% 4+ u? 4+ .. +11678u + 2941
C4, C10,C11 ub w4 du 1
Cs u —u® 4 ... 4 394u + 65
Cg, C12 u —9u? 4+ 4 16u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, Co, C8 Yo +67y%% + -+ 32y —1
2, Cr Y9 +159%% + .. + 16972 — 1
¢ 63 62
3 Yo7 + 27y + -+ - — 133314016y — 8649481
C4, C10, C11 y63 + 59;1/62 4+ = 16y2 —1
Cs Y% 4+ 2352 + ... — 226184y — 4225
Co, C12 Y% + 5552 + ... 4208y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
= 0.026966 + 1.1063501 5.72389 + 2.985021 0
= 0.026966 — 1.1063507 5.72389 — 2.985021 0

= —0.687201 + 0.4125061

9.24727 + 10.498001

—3.51356 — 8.277681

= —0.687201 — 0.4125061

9.24727 — 10.498001

—3.51356 + 8.277681

= 0.683558 + 0.4180421

9.63540 — 4.122751

—2.71858 + 3.425971

= 0.683558 — 0.4180421

9.63540 + 4.122751

—2.71858 — 3.425971

= 0.594200 + 0.5198371

10.03370 — 0.133301

—1.68361 + 2.693301

= 0.594200 — 0.5198371

10.03370 + 0.133301

—1.68361 — 2.693301

= —0.587406 + 0.5262851

9.69166 — 6.245961

—2.31699 + 2.221811

= —0.587406 — 0.5262851

9.69166 + 6.245961

—2.31699 — 2.221811

= 0.132381 + 1.2188401

0.146145 — 0.2705531

0

= 0.132381 — 1.2188401

0.146145 + 0.2705531

0

= —0.657132 + 0.3907631

1.28852 + 6.790031

—7.72888 — 9.432581

= —0.657132 — 0.3907631

1.28852 — 6.790031

—7.72888 4 9.432581

= 0.636380 + 0.4143971

3.22883 — 2.966131

—2.26029 + 3.710501

3.22883 4 2.966131

—2.26029 — 3.710501

= 0.588036 + 0.4550401

3.42044 — 1.031251

—1.58884 + 3.346041

= 0.588036 — 0.4550401

3.42044 4 1.031251

—1.58884 — 3.346041

—0.546794 4 0.4818401

1.71497 — 2.816211

—6.17352 + 3.052331

= —0.546794 — 0.4818401

1.71497 + 2.816211

—6.17352 — 3.052331

= 0.187128 +1.2679701 0.75597 — 5.280661 0
= 0.187128 — 1.2679701 0.75597 + 5.280661 0
= —0.140950 + 1.2881901 3.01462 + 2.299871 0
= —0.140950 — 1.2881901 3.01462 — 2.299871 0

= —0.588233 + 0.3667461

—0.67695 4 1.756131

—11.70628 — 3.563741

= —0.588233 — 0.3667461

—0.67695 — 1.756131

—11.70628 4 3.563741

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u= 0.636380 —0.4143971
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= 0.225134 + 1.3066501 7.62130 — 8.961201 0
= 0.225134 — 1.3066501 7.62130 + 8.961201 0
= —0.219260 + 1.3178001 7.95062 + 2.830071 0
= —0.219260 — 1.3178001 7.95062 — 2.830071 0




Solutions to I v—1(vol + /—1CS) Cusp shape
= —0.042411 + 1.3425801 4.52694 + 1.803241 0
= —0.042411 — 1.3425801 4.52694 — 1.803241 0

= 0.636351 + 0.129886.1

3.15162 — 5.832691

—8.95633 + 6.729161

= 0.636351 — 0.1298861

3.15162 + 5.832691

—8.95633 — 6.729161

= —0.626388 + 0.1487781

3.37667 — 0.237571

—8.27194 — 1.716391

3.37667 + 0.237571

—8.27194 + 1.716391

= —0.032534 + 0.6312031

5.53486 + 3.058971

—2.47533 — 2.851461

= —0.032534 — 0.6312031

5.53486 — 3.058971

—2.47533 + 2.851461

= 0.598759 + 0.0479381

—3.27254 — 2.416071

—16.1850 + 5.72251

U
u
U
U
U
u = —0.626388 — 0.1487781
U
]
U
U

= 0.598759 — 0.0479381

—3.27254 + 2.416071

—16.1850 — 5.72251

u = —0.00543 + 1.421791 11.72350 + 3.158041 0
uw = —0.00543 — 1.42179] 11.72350 — 3.158041 0
u = —0.22566 + 1.443481 5.15010 4 4.768681 0
uw = —0.22566 — 1.443481 5.15010 — 4.768681 0
u = —0.19753 4 1.461261 7.93304 — 0.097831 0
uw = —0.19753 — 1.461261 7.93304 + 0.097831 0
u = —0.24532 + 1.455541 7.23183 4+ 10.091401 0
u = —0.24532 — 1.455541 7.23183 — 10.091401 0
u=0.23532 + 1.460981 9.26906 — 6.159551 0
u=0.23532 — 1.460981 9.26906 + 6.159551 0
u= 0.21343 4 1.464861 9.59495 — 3.967521 0
w=0.21343 — 1.464861 9.59495 + 3.967521 0
u = —0.25415 4 1.467731 15.3101 + 13.93531 0
uw = —0.256415 — 1.467731 15.3101 — 13.93531 0
uw= 0.25182 + 1.469311 15.7234 — 7.53851 0
uw= 0.25182 —1.469311 15.7234 + 7.53851 0
u = —0.19538 + 1.484771 16.1933 — 3.42571 0
u = —0.19538 — 1.484771 16.1933 + 3.42571 0
u=0.19915 + 1.484761 16.5161 — 2.99741 0
w=0.19915 — 1.484761 16.5161 + 2.99741 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.501335

—0.970575

—9.91400

u = —0.206160 + 0.3258641

—0.414743 4 1.0149401

—6.73202 — 6.390681

u = —0.206160 — 0.3258641

—0.414743 — 1.0149401

—6.73202 + 6.390681




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cg, C8 u% 4+ 15u%% + -+ 16u® — 1
c2,C7 uS +uf? 2 41
€3 ub +u®? 4 ... 4 11678u + 2941
C4,C10,C11 ub + b+ du+1
¢ u% —u%? 4+ 394u + 65
Cg, C12 u® -9y + .+ 16u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cg, C8 YO 67y -+ 32y — 1
Ca, C7 Y%+ 15952 + .- 4 169% — 1
€3 Y% +27y5% + ... — 133314016y — 8649481
€4, €10, C11 Y% + 59y + .- — 16y* — 1
Cs Y% +23y%% + ... — 226184y — 4225
9, C12 Y% 4+ 55952 + ... + 208y — 1




